al

(@ Ny, /dndeC
B
ol

N

IIII|IIII|IIII|IIII|IIII|IIII|_

Ratio to ATLAS

7000 GeV pp

Underlying Event
A I R B

I T | T I T I T I
<N_ > vsn'd(n| < 2.5, p_>0.1GeV)

m ATLAS
—A— Pythia 6.428 370
----- A Pythia 6.428 373
--0-- Pythia 6.428 374
Pythia 6.428 375
---&-- Pythia 6.428 381
--¥-- Pythia 6.428 382

HL@
=30
B

PEH
&
"l‘[
{8
.\;:n.
B>
H
P
¥
A+

RV A A = El:\':g‘i ':-‘\ 75 "! - /-“ /j\?Zv!% ym 2 A:‘: “‘7
B AEPEALONIEPNTI R PSRN NARER |
Y _ : ¥ :
—yvVyV¥yy V"‘Vv'v'VWVVVV"VVVYYvYV VEVYyVEVY YE¥VyY |
| 1 1 1 1 L | L 1 1 1 1 | 1 1
0 1 2

In| (leading track)

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


